Bid Tab from 2022

	OPTION 1				Company, rstown, MI		Mans		mpany of Cinesville, G	Sainesville, Inc.
	Item	OPIS Newsletter Price as of 09-23-22	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A+B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$2.9385	\$0.2675	\$3.2060	65,120	\$208,774.72	No Bid	No Bid	65,120	No Bid
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$3.1212	\$0.2675	\$3.3887	6,000	\$20,332.20	No Bid	No Bid	6,000	No Bid
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I (Option No. 1)		\$229,106.92				No Bid			
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$2.7069	\$0.0850	\$2.7919	197,000	\$550,004.30	\$0.0829	\$2.7898	197,000	\$549,590.60
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$2.8369	\$0.0850	\$2.9219	145,000	\$423,675.50	\$0.0468	\$2.8837	145,000	\$418,136.50
	Total Sum Gasoline Transpo as Described in Section II (O		\$973,679.80				\$967,727.10			
Sec.	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$3.6691	\$0.2575	\$3.9266	61,647	\$242,063.11	No Bid	No Bid	61,647	No Bid
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III (Option No. 1)			\$24	42,063.11]	No Bid	
Sec.	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$3.4799	\$0.0900	\$3.5699	719,000	\$2,566,758.10	\$0.1421	\$3.6220	719,000	\$2,604,218.00
	Total Sum Diesel Tank-wagon Deliveri as Described in Section IV (Option No.			\$2,5	566,758.10			\$2,6	604,218.00	

PUR-1578

Bulk Gasoline and Diesel Fuel

OPTION 1	A.C.&T. Company, Inc. Hagerstown, MD	Mansfield Oil Company of Gainesville, Inc. Gainesville, GA
Winter Chemical Additive Protection (cost per gallon):	Tankwagon at Rack \$.0300/gal // Transport \$.0500 / gal	\$0.025
Winter Chemical Additive Protection Product Name:	Tankwagon CFI 1902 // Transport 137ULSW Diesel Treat 2000	Cold Pro Winter Additive
Manufacturer's Name:	Tankwagon Innospec // Transport Schaeffer Manufacturing	Innospec

	OPTION			Company, rstown, MI		Mans		mpany of Ginesville, GA	Sainesville, Inc.	
		A	В	C OPIS Price	D	E	В	C OPIS Price	D	E
	Item	OPIS Newsletter Price as of 09-23-22	Bidder +/- Factor	+ Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	+ Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$2.9385	\$0.2650	\$3.2035	65,120	\$208,611.92	No Bid	No Bid	65,120	No Bid
Sec.	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$3.1212	\$0.2650	\$3.3862	6,000	\$20,317.20	No Bid	No Bid	6,000	No Bid
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I (Option No. 2)			\$228,929.12			No Bid			
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$2.7069	\$0.0825	\$2.7894	197,000	\$549,511.80	No Bid	No Bid	197,000	No Bid
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$2.8369	\$0.0825	\$2.9194	145,000	\$423,313.00	No Bid	No Bid	145,000	No Bid
	Total Sum Gasoline Transpo as Described in Section II (O			\$972,824.80			No Bid			
Sec. III	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$3.6691	\$0.2550	\$3.9241	61,467	\$241,202.65	No Bid	No Bid	61,467	No Bid
Sec.	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$3.4799	\$0.0875	\$3.5674	719,000	\$2,564,960.60	No Bid	No Bid	719,000	No Bid
1 4	Total Sum Bid of All Section Totals (Sections I-IV) (Option No. 2)			\$4,0	007,917.17			\$3,5	571,939.10	*

OPTION 2	A.C.&T. Company, Inc. Hagerstown, MD	Mansfield Oil Company of Gainesville, Inc. Gainesville, GA
Winter Chemical Additive Protection (cost per gallon):	Tankwagon at Rack \$.0300 / gal // Transport \$.0500 / gal	\$0.0250 *
Winter Chemical Additive Protection Product Name:	Tankwagon CFI 1902 // Transport 137 ULSWDeisel Treat 2000	Cold Pro Winter Additive *
Manufacturer's Name:	Tankwagon Innospec // Transport Schaeffer Manufacturing	Innospec *

^{*}Corrected Calculations Based on Unit Pricing

NOTES:

Mansfield Oil Company of Gainesville, Inc. - Option 2, No Bids listed, entered Total Sum Bid of all Section Totals (Sections I-IV).

OPTION 1			P	etroleum Tı Fort	raders Corp Wayne, IN	ooration			Petroleum, ton Beach,	
		A	В	С	D	E	В	С	D	E
	Item	OPIS Newsletter Price as of 09-23-22	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$2.9385	No Bid	No Bid	65,120	No Bid	No Bid	No Bid	65,120	No Bid
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$3.1212	No Bid	No Bid	6,000	No Bid	No Bid	No Bid	6,000	No Bid
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I (Option No. 1)		No Bid			No Bid				
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$2.7069	\$0.0550	\$2.7619	197,000	\$544,094.30	No Bid	No Bid	197,000	No Bid
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$2.8369	\$0.0275	\$2.8644	145,000	\$415,338.00	No Bid	No Bid	145,000	No Bid
	Total Sum Gasoline Transpo as Described in Section II (O		\$959,432.30			No Bid				
Sec.	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$3.6691	No Bid	No Bid	61,647	No Bid	No Bid	No Bid	61,647	No Bid
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III (Option No. 1)]	No Bid			1	No Bid	
Sec.	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$3.4799	\$0.1130	\$3.5929	719,000	\$2,583,295.10	\$0.0942	\$3.5741	719,000	\$2,569,777.90
	Total Sum Diesel Tank-wagon Deliveries as Described in Section IV (Option No. 1)			\$2,5	583,295.10			\$2,5	569,777.90	

OPTION 1	Petroleum Traders Corporation Fort Wayne, IN	Pinnacle Petroleum, Inc. Huntington Beach, CA
Winter Chemical Additive Protection (cost per gallon):	\$0.0400	\$0.03000
Winter Chemical Additive Protection Product Name:	Diesel Treat 2000 Ultra Low Sulfur Winter Premium (#137ULSW)	Diesel Treat 2000 Ultra Low Sulflur Winter Premium (#137ULSW)
Manufacturer's Name:	Schaeffer Manufacturing Company	Schaeffer's

	OPTION 2			etroleum Ti Fort	raders Corp Wayne, IN	ooration			Petroleum, ton Beach,	
		A	В	C	D	E	В	C	D	E
	Item	OPIS Newsletter Price as of 09-23-22	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$2.9385	No Bid	No Bid	65,120	No Bid	No Bid	No Bid	65,120	No Bid
Sec	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$3.1212	No Bid	No Bid	6,000	No Bid	No Bid	No Bid	6,000	No Bid
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I (Option No. 2)		No Bid			No Bid				
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$2.7069	No Bid	No Bid	197,000	No Bid	No Bid	No Bid	197,000	No Bid
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$2.8369	No Bid	No Bid	145,000	No Bid	No Bid	No Bid	145,000	No Bid
	Total Sum Gasoline Transport as Described in Section II (Op]	No Bid			N	o Bid	*
Sec.	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$3.6691	No Bid	No Bid	61,467	No Bid	No Bid	No Bid	61,467	No Bid
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$3.4799	No Bid	No Bid	719,000	No Bid	No Bid	No Bid	719,000	No Bid
17	Total Sum Bid of All Section Totals (Sections I-IV) (Option No. 2)			No Bid			No Bid			

OPTION 2	Petroleum Traders Corporation Fort Wayne, IN	Pinnacle Petroleum, Inc. Huntington Beach, CA
Winter Chemical Additive Protection (cost per gallon):	No Bid	No Bid
Winter Chemical Additive Protection Product Name:	No Bid	No Bid
Manufacturer's Name:	No Bid	No Bid

^{*}Corrected Calculations Based on Unit Pricing

NOTES:

Pinnacle Petroleum, Inc. - Option 2, Section I and II - Form of Proposal Page 43 not included.

	OPTION	1		Saratoga Ra Kn	ack Market noxville, TN	O,	
		A	B C D			E	
	Item	OPIS Newsletter Price as of 09-23-22	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$2.9385	No Bid	No Bid	65,120	No Bid	
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$3.1212	No Bid	No Bid	6,000	No Bid	
	Total Sum Gasoline Tanl Deliveries as Described in (Option No. 1)	_			No Bid		
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$2.7069	\$0.0482	\$2.7551	197,000	\$542,754.70	
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$2.8369	\$0.0432	\$2.8801	145,000	\$417,614.50	
	Total Sum Gasoline Transpo as Described in Section II (O	\$960,369.20					
Sec.	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$3.6691	No Bid	No Bid	61,647	No Bid	
	Total Sum Diesel Tank-wago as Described in Section III (C	No Bid					
Sec. IV	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$3.4799	\$0.0704	\$3.5503	719,000	\$2,552,665.70	
1 7	Total Sum Diesel Tank-wago as Described in Section IV (O	_	\$2,5	552,665.70			

OPTION 1	Saratoga Rack Marketing, LLC Knoxville, TN
Winter Chemical Additive Protection (cost per gallon):	\$0.0250
Winter Chemical Additive Protection Product Name:	MCC COLD FLO 6465 PLUS
Manufacturer's Name:	MidContinental Chemical Company, Inc.

	OPTION	2	1	Saratoga Ra Kn	ack Market oxville, TN	<u> </u>	
		A	В	C	D	E	
	Item	OPIS Newsletter Price as of 09-23-22	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$2.9385	No Bid	No Bid	65,120	No Bid	
Sec.	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$3.1212	No Bid	No Bid	6,000	No Bid	
	Total Sum Gasoline Tank-wag Deliveries as Described in Sect (Option No. 2)	No Bid					
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$2.7069	No Bid	No Bid	197,000	No Bid	
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$2.8369	No Bid	No Bid	145,000	No Bid	
	Total Sum Gasoline Transport as Described in Section II (Op		No Bid				
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$3.6691	No Bid	No Bid	61,467	No Bid	
Sec.	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$3.4799	No Bid	No Bid	719,000	No Bid	
1 7	Total Sum Bid of All Section Totals (Sections I-IV) (Option No. 2)]	No Bid		

OPTION 2	Saratoga Rack Marketing, LLC Knoxville, TN
Winter Chemical Additive Protection (cost per gallon):	No Bid
Winter Chemical Additive Protection Product Name:	No Bid
Manufacturer's Name:	No Bid

^{*}Corrected Calculations Based on Unit Pricing

NOTES:

Saratoga Rack Marketing, LLC - Please note the following qualification that accompanies our bid: 1. Billing will occur on gross gallons, Applicable, non-exempt taxes and regulatory fees including import fees are not included in markup. They will be billed separately as line items.